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39 U9H-U | Pt 26 5 &1 st v rferard &

Directions : There are in all 26 questions in this question paper. All questions are

(ii)

(iii)

(iv)

(v)

(vi)

compulsory.

el eq FeiRa 3id 37 T 3ifed 2|

Marks alloted to the questions are mentioned against them.

S S Pl SAFYAS Ufed dor T 3R sl

Read each question carefully and answer to the point.

5o AT 1 SEfadedid Yo &1 59 U9 & el U & FoR H IR ey Ry mo |
e fopea st IR gRaa 3 foav| wemr i 2 R 5 e Mitaa 3ok wee &
Question No.1 is multiple choice question. Four options are given in
answer of each part of this question. Write correct option in your answer
book. Question No. 2 to 5 are definite answer type questions.

e &A1 1 BT TS WUS U 3 BT & | Yo ORAT 2 | 5 b U 37 b U
& 5 |1 6 W 15 A QY 37 B Y & | 7T IRAT 16 | 23 a A 31 B
e & | T AT 24 W 26 O R 3ich & w9 €, 5 yee e 26 /A
amena w2 2l

Each part of Question No. 1 carries one mark. Question No. 2 to 5 are
of one mark each. Question No. 6 to 15 are of two marks each. Question
No. 16 to 23 are of three marks each. Question No. 24 to 26 are of
four marks each, in which Question No. 26 is Case/Source based
question. .

39 Ye-UF H GHY R Bl [9oed A&l & aenfy siqua y2=1 § siidRe f&doe yeam
T o @1 O weAt W haet v faed b1 & 3R aifeTel

There is no overall choice in this question paper, however, an internal

choice has been provided in few questions. Attempt only one of the
given choices in such questions.
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1. (P) 3Juifsr eremoi @ genguta &1 Rigr fooa fean er? 1
Who gave the theory of Inheritance of acquired characteristics?
(i) eifaq (i) oD (i) HseT (iv) drerd
Darwin Lamarck Mendal Wallace
(W) FeTer IS Urll STl & : : 1
Sertoli cells are present in :
() JaBH (i) FEOTH (i) TPpaH (iv) 3SR H
Kidney Testis Liver Ovary
(M) PR (o) delt & 575 Ut § ur S ate iy &- 1
The Bacteria found in the root nodules of Leguminous plants is-
() IEETH (i) WERER (i) WERODEd  (iv) e
Rhizobium Azotobacter Staphylococus Lactobacillus
(7) B P & 1 Sta e &1 ve Feaqel 3294 & 1
An important objective of biotechnology in the area of agriculture is -
() SIoT H=T D HH DA
to decrease seed number
(i) e @ Pre-ufeRIel fhel &1 3dTE BRAT
to produce pest-resistant varieties of plants
(iii) BIEPR, TSI ScUTET PI TG
to increase phosphorous, nitrogen production
(iv) Ttel B T BT BH BT
to reduce the number of plants
() Fotf ol fuRTiHs &l &- 1
The pyramid of energy is-
(i) <eg 3T (i) g e
Always inverted Always upright
(iii) D Wem B 3T (iv) 39 I IS &I
Some times uprighted and some time inverted None of these
(T) AN urel # kit wuraRa g 8- 1
In desert Plants, leaves modified in to-
(i) TH (i) el H (i) ®reid (iv) &I d
stem fruits spines roots

[2]



(B)

(37)

s Y ST A o B v 1

Number of chromosomes found in human beings is-

(i) TR OREIESEIS
Four Pairs Twenty two pairs
(iii) g TSN (iv) e Sigt
Twenty three pairs Twenty four pairs
fasTeT Wieror =1 & & fioar I o1 Sita & fore oo star &2 1
Widal test is done to detect which of the following disease?
(i) HaRaT (i) CTISWIss (iii) ©=H (iv) PR
Malaria Typhoid AIDS Cancer

92 ¥AT-1 & 3TTeT &I WUst #, A B! Bl UG (A) T BRT (R) B
w0 ¥ fafred fovar mar @1 Feafafaa fawedt (i), (i, i) T2 (iv) ¥ 3 g
ST Tl IR alfsTe|

Direction : In next two parts of Question No.-1, there are two statements labelled
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as Assertion (A) and Reason (R). From the following options (i), (ii),
(iii) and (iv), select their correct answer.
(i) (A) TR (R) SFT TET & TAT (R), (A) B T&T AT BT &
Both (A) and (R) are correct and (R) is the correct explanation of (A).
(i) (A) T (R) AFI Tl & R (R), (A) B Tel AT el el &
Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(ii)y (A) T & W] (R) e &
(A) is correct but (R) is incorrect.
(iv) (A) @1 (R) FI TTed 2l
Both (A) and (R) are incorrect.
B (A)  : =deIvsT USTEH &1 YR & 8N &, Targiaees 3iR Tusgfaeiest |
BRUT (R) : PUSIfaeIUST S1.04.U. & Rl & gfoerdierss e &1 1

Assertion (A) : Nucleases enzymes are of two kinds, exonucleases and

endonucleases.

Reason (R) : Endonucleases remove nucleotides from the ends of the
DNA.

[3] [P.T.O.
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(31) 3ifd@meM (A) @ 31N Bat | S o fFmior T8 gar &9
BRI (R) : O3 Bell o1 fafoT g & Fies & o g gl 1
Assertion (A) : No seeds formation found in the Parthenocarpy fruits.

Reason (R) : Such type of fruits are formed without fertilization of the

ovary.

ar] WA v e &1 9 ferlae| 1
Write the name of a wind-pollinated plant.

‘S FT 8? 1
What is 'gene'?

U ¥ 36 | fobs I Y AT 96 STl /2 ’ 1
Which gas level in blood increases due to smoking?

SIS T 82 1

What is Biopiracy?

&7 SS0] ST & THY fobd YR BT PITIHT [IHTSH BNefm &7 100 TRETHUI & 0T o
fore 0 fobe faama=i of sagadar g 2
What type of cell division take place during Microsporogenesis? How many such

types of division will be required for the formation of 100 Pollen grains?
T[hoiH (WHCTSMN) T 378 (FomTes) § I al 3I<K fiiae| 2
Write any two differences between Sprematogenesis and Oogenesis.

RGN RTe] HRIGH T &7 2

What is test tube baby programme?
31Ia1/OR
IR & IR F fealae|
Write the four functions of Placenta.
37aRIT 3T T &P T 3EERVT QHfore | 2
What are Vestigial Organs? Give two examples.

RIFIRIRUT & FHY SR Bl 3 T YRS &f 3eerd ditoe] 2

Mention two essential roles of ribosome during translation.
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11. &H 39 3MenRa IR 3anh & = feiRae| 2

Write the names of four micro organism based industries.

12. Fafafed w wfére fewoh ferRee - 1x2=2
Write short notes on the following -
(P) EL.UA.T. At - () FET HaED
D.N.A. Ligase : Cloning Vehicles or vectors

13. 31 farfdee war 82 efsAri fefieisT o ol @ seresor & gu e 2

What is gene therapy? Explain with example of adinosine deaminase deficiency?

14. 18 WA FaT €7 39 5fd &1 919 a2 31 39 da7 vl 2 , 2
What are cry proteins? Name the organism that produces it.
15. SCHg-& Tvawe 3 AT (RATF) B gof & a7 Taeg &7 2
What is the significance of the slope of regression in a species-area relationship?
3Udi/OR
FrfaRea w wfére woh fiRae- 1x2=2
Write short note on the following-
(B) @ e (@) RO
Food chain Reforestation
16. TR RFgM 9 FeirgTbeex R # 318 9 3R foRae| 3
Write any three difference between Turner's Syndrome and KIinefelter's
Syndrome.
17. THRIES 39T g1 8 &7 febwel &1 3urdi @1 vl Sl 3
What are contraception? Explain ariy two methods of contraception.
' 3127/d1/ OR
(@) Slesi o1 82 a8 e foost 3mg & 9% e 22 1%
What is menarche? At what age does it usually start ?
(@) AFd IYhIv] BT Ferzeas Hegor Sifswe? 17

Give a diagrammatic representation of Human Sperm?

431 (ILV) [5] [P.T.O.
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20.

21

22

23:

24.

&) T, 1. 3 B T &? 590 1 a1 39N feifael 3

What is DNA finger printing? Write any two uses of it.

Treqef HepRoT Tt &2 TeTe HBROT D @ FRT T | 3

What is Test cross? Explain Test cross with the help of a diagram.

P 3 TrRT T @7 1 RRae| I Hd TR B B THIT SR &7 3

Name the plant source of cocaine. How does it affect the human body?

3Jdi/OR

fr=fafed wR dféa wof fafae - 1x3=3

Write short notes on the following-

(@) TR (@) FUCBRI (M) wodlaEfS
Cancer Interferons Antibiotic

STRa: WURIRA i T &2 aad%ﬁ:wmﬁaumﬁﬁasmésmaaﬁ

foRae| 3

What are genetically modified organism? Write the advantages and disadvantages

of production of genetically modified crops. :

TS B TR P} T AT UTRe & WU § AR Dot 3

Explain the pond ecosystem as an example of best ecosystem.

31d1/OR

frefoRad w wfén fewon feifRae- 1x3=3
Write short notes on the following-
(®) e g (@) TRafifdar (1) e 3iTs! B D

Population Growth Parasitism Red Data Book
St fafderar qon 22 39 W UCh! B T 3eerd il 3
What is Biodiversity? Briefly mention its major components.
35 o @ &2 39 R & A il B 3R Afed T Bitote | 4

What is biological evolution? Elucidate three evidences of biological evolution
with examples.

31di/OR
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26

() RS Fe o faear ftRaw| 2

Write characteristic features of genetic code.

(F) R & U Y 0T et I ATeY e BT HehevT St S b Qo Qe e 2 e
T | F1 9 F2 96t # fooet YR & dtedr et 21, SR avi S 2

A pure tall with red flower Pea plant is crossed with a pure dwarf with white

flower pea plant. What type of plants will be produced in F1 and F2

- generation, describe it diagramatically.
HOIRGT R 5%t el 87 AT F 390 N9 b &1 RS HT JuiT BEl 4

What is malaria parasite? Describe different stages of its life cycle in Human.

3AUdI/OR
R wR wfére femoh foRes - 1x4=4
Write short notes on following-
(&) Tetsit (@) =T () arfeaHa (T) DRBREar
Allergy Addiction Sewage Ascariasis

frreferiaa srFese @1 eamyd® ufed qen 3% SR R e wet b 3eR forfae -

Read the following passage carefully and answer the questions given below-
dSTi-e GRT 3% & o1 o foTe 31 gfendl a5t @tst o oy 21 Fafirs St 3 semsr
aRorm sift seiepR &1 &1 JaTeRome  Seader v gfen & fore i & T ver <& gy
a1 T 4 I I B e 3wt Reufer B gar e S ebar &1 R eerh
T = $ Gfh Bl AT foi bt gga ke 3 IR @ e &1 e o el akes Ay
SFATTRSeT 0T BT T GRT T PRI 3T & | WINIGHR HIG FHIST & FIABT 3T BT 3 3ie
¥ QT ST & 3R 37 391 Gfeh F vea % Mo A ) gean o & SR 1 3 o '
PEd €| TE TP AT FaER & 3% W & & sremd O peft-ped qris e &y
gl
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Scientist invent many techniques for the benefit of man. Methods of treatment
of various diseases are discovered, but man starts misusing them for his
selfishness, the result of which is very dreadful. For example : Amniocentesis is
a technique through which the genetic defects and condition of the foetus or the
baby growing in mother's womb can be detected. But greedy humans have
started using this technique to identify gender. By finding out the sex, humans
destroy the unwanted fetus by abortion. Especially in human society, the birth
of a girl child is looked down upon and they are identified through this method
and killed in the womb itself. This is called foeticide. This is an inhumane behaviour.

It is clear from this that even goodness sometimes proves to be evil.

(&) Jesaer o Badt 282 1
What is amniocentesis?

(@) 4T & % ded 27 1
What is foeticide?

(1) 3cadTN BT Y 3T TT AT? 1

What was the basic purpose of amniocentesis?
(41) Y07 & BT T BRI & FAT T 22 1

How is foeticide related to sex ratio?

X K K XK X
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